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Q1. Secondary lymphoid organ like MALT and GALT have a strong mucus.
mechanism of immunoglobulin transport across such mucus membrarg b
is a strong probability of immunoglobulin entrapment in the mucyg-anc
class of immunoglobulin are classified as secretory antibody and why? 18]

s

in square

parts: H chains, sulfide bopd
Fab, Fc, and all the domains, Indicate which domainsare involved in antigen binding,

2. How would you have to modify the diagram of Ig depict an IgA molecule isolated
from saliva?

. dntigenic determinants, they themselves can
ion of antibody. For each of the following
ther anti-immunoglobulin antibodies would be formed
pic (ID) determinants: [4]

Q3. Because immunoglobulin moleculés pogse
function as immunogens, inducihg
immunization scenarios, indicat__g;
to isotypic (IS), allotypic (AL), or idi

a) Anti-DNP antibéidi‘es’ roduced in a BALB/c mouse are injected into a C57BL/6

aclontal an

tibodies from a BALB/c mouse are injected into another

c) AutlBGG a,fl bodles produced in a BALB/c mouse are injected into a rabbit,
ibodies produced in a BALB/c mouse are injected into the same

Q4. You Prepare an‘immunotoxin by conjugating diphtheria toxin with a monoclonal antibody
7*pecific for a tumor antigen,
&) Ifithis immunotoxin is injected into an animal, will any normal cells be killed?
“sExplain.
b) If the antibody part of the immunotoxin is degraded so that the toxin is released, will
normal cells be killed? Explain. [2+2]

Q5. Adaptive immunity has evolved in vertebrates but they have also retained innate immunity,
What would be the disadvantages of having only an adaptive immune system? Comment on how
possession of both types of immunity enhances protection against infection, (2]



Q6. For each pair of antigens listed below, indicate which is likely to be more immunogenic and
why? Explain your answer. {3]
a) A protein with same amino acid sequence (-Gly-Gly-Gly-Gly-Gly-)
A protein with different amino acid sequence (-Gly-Trp-Lys-Cys-Ala-)
b) A protein with a molecular weight of 30,000
A protein with a molecular weight of 150,000
¢) BSA in Freund’s complete adjuvant
BSA in Freund’s incomplete adjuvant

Q7. Some microorganisms are classified as intracellular pathogens sucg%g,i (g
gonorrhoeae), Diagrammatically explain why the immune response to these pathog
from that to other extracellular pathogens such as Staphylococcus aﬁlg“qnd%\%
pneumoniae. 3] P
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